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Diagram of the left hemisphere 

 

 Number (1) is _____ 
a- Broca's aphasia 
b- Auditory 
c- Wernicke's aphasia 
d- Motor 
The correct answer is (a)  
 
Number (2) is _____ 
a- Motor 
b- Visual 
c- Sylvian fissure 

d- Auditory 
The correct answer is (d)  
 
Number (3) is _____ 
a- Sylvian fissure 
b- Motor 
c- Broca's aphasia 
d- Visual 
The correct answer is (b)  
 
Number (4) is _____ 
a- Visual 
b- Auditory 
c- Broca's aphasia 
d- Motor 
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The correct answer is (a)  
 
Number (5) is _____ 
a- Broca's aphasia 
b- Motor 
c- Wernicke's aphasia 
d- Sylvian fissure 
The correct answer is (c)  
 
Number (6) is _____ 
a- Auditory 
b- Sylvian fissure 
c- Visual 
d- Wernicke's aphasia 
The correct answer is (b)  
 
Number (7) is _____ 
a- Frontal Lobe     
b- Occipital Lobe     
c- Parietal Lobe     
d- Temporal Lobe 

The correct answer is (a)  
 
Number (8) is _____ 
a- Frontal Lobe     
b- Occipital Lobe     
c- Parietal Lobe     
d- Temporal Lobe 

The correct answer is (c)  
 
Number (9) is _____ 
a- Frontal Lobe     
b- Occipital Lobe     
c- Parietal Lobe     
d- Temporal Lobe 

The correct answer is (b)  
 
Number (10) is _____ 
a- Frontal Lobe     
b- Occipital Lobe     
c- Parietal Lobe     
d- Temporal Lobe 

The correct answer is (d)  
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 هالسؤالين من الدكتور السابق لكن أشوف إنها مهمة

 
Broca's aphasia is located in the ________ 

a- temporal lobe of the right hemisphere of the brain 
b- frontal lobe of the right hemisphere of the brain 
c- temporal lobe of the left hemisphere of the brain  
d- frontal lobe of the left hemisphere of the brain 
The correct answer is (d)  
 
 
Wernicke's aphasia is located in the ________ 

a- temporal lobe of the right hemisphere of the brain 
b- frontal lobe of the right hemisphere of the brain  
c- temporal lobe of the left hemisphere of the brain 
d- frontal lobe of the left hemisphere of the brain 

The correct answer is (c)  
 

 حل كل الأسئلة من هذه الصورة
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